| | | 1SO 6431 Standard Cylinder Accessories

o

\‘/{,rl L

ISO-FA/FB Type Flange

1 1 14 14 17 17 19 25 25

7 7 9 9 " " 13 17 17

I)>
L

BA 305 355 405 455 455 555 605 655 755
BB 0 10 12 12 16 16 20 20 25
BC 47 53 65 75 95 115 140 180 220
[UBDI 2 3 45 50 63 75 90 115 135
BE 80 9 110 125 154 186 224 280 320
[OUBEI 64 72 9 100 126 150 180 230 270
BH 4 4 4 6 6 6 8 8 12

PBFI 7 9 9 9 125 145 165 185 24
=

325 38 465 565 72 89 110 140 175

Srmoaiooe 32 o s oo e oo iz oo,z

100 113 125 140 160 182 -

_52 63 74 8 105 128 - - -

ED 325 38 465 565 72 89 - - -
52 63 75 90 105 128 - = .
EG 25 25 25 25 25 25 - - -

PER 2 1 16 20 20 25 - - -

20 22 22 28 28 34 - - -

ET
[UHCT a7 45 55 es &7 1075 - - -

I1ISO-TC
NQ NE
ND ND
1SO-Y Joint NP N
TT
' 4 <|38 N— g /_H
Lt s sl '
. — =

e -

ISO-Y+Pin  1SO-Y-Clip -—--m-

254
_ 10 12 16

ND 40 48 64

52 67 89

NF 15 24 32

[Ne 20 20 23

NH M10%125 M12X1.26 M16X1

R 10 12 16

NP 20 24 32

L [TNa =2 62 83
PA 262 328 393

1SO-1 Joint

Bz

1 Type

44. 44.4 70
16 20 20 30 35 35
64 80 80 110 144 144
89 112 112 155 201 201
32 40 40 50 50 55
23 30 30 56 72 72
5 M16xX15 M20x15 M20x1.5 M27x20 M36x20 M36x2.0
16 20 20 30 35 35
32 40 40 54 72 72
83 105 105 148 191 191
39.3 53.3 53.3 64 80 80
33 45 45 55.6 70.6 70.6

el o
2 s 2 7 21 115 M101.25

4000 ss 22 8 21 28 115 8 12 Mi2x125 12
50 90 27 10 41 445 20 10 17 MI6x15 7

6 w0 27 10 41 445 20 10 17 MI6x15 7
80 102 20 13 46 53 24 13 22 M20x15 10

GO 102 20 13 46 53 24 13 22 M20x15 10
125 147 54 13 64 62 39 14 30 M27x20

L MA - 60 251 72 22 115 80 80 18 36 M36X20 4

200 251 72 22 115 80 80 18 36 M36x2.0

MJ

ME

1SO-UJ Type Float Joint

IEI-

M10%1.25 13
12 30 12 24 50 65 M12x125 13
15 38 16 33 64 83 M16x1.5 15
15 38 16 33 64 83 M16Xx1.5 15
18 46 20 40 77 100  M20x1.5 15
18 46 20 40 77 100 M20Xx1.5 15
37 70 30 51 110 145 M27x2.0 15
43 80 35 56 125 165 M36X2.0 16
43 80 35 56 125 165 M36x2.0 16

I

ISO-PHS Type Fishege Joint

II Standard Cylinder

Symbol/Bore| 32 | 40 | 50 | 63 | 80 | 100 | 125 | 160 | 200

Cyl der center line

2 AA 153 169 173 184 199 210 249 328 380
[UACI 134 140 149 158 167 174 213 288 320

AC+ L& ‘ AD 95 145 12 13 16 18 18 20 30

At [IUARENT s0 57 es 80 97 112 140 180 220

_Q} AF 33 36 47 5 70 84 90 115 135

v, 205 235 28 31 30 30 45 60 70

AJ 28 30 365 41 49 57 9 15 135

&) 12 12 12 14 14 16 18 22

$ AT 3 3 3 3 4 4 8 8 10

LB Type Foot Bracket

Symbol/Bore| 32 | 40 50 | 63 | 80 | 100 | 125 | 160 | 200
BA 283 323 383 383 473 473 56 63 81
10 10 10 12 16 16 20 25 25
47 52 65 76 95 115 140 180 220
33 36 47 56 70 84 9 115 135

@
IOI

BE 72 84 104 116 143 162 224 280 320
[UBFEI s8 70 s e 19 138 180 230 270
BH 65 65 65 85 105 105 15 20 20
[AT 105 105 135 135 5 5 19 25 25
AK 65 65 65 85 105 105 125 165 165

18 22
33 37 47 56 70 84 110 140 175

120

FA/FB Type Flange

_|I
]
]
©
©
o



